Trefeiam enyT sl UgeRt I T U9 ol 3T ST |

T Heiferd &1 SwrieRH i YESATd well Teesid e W g | 9T Sivd @ Hifad &= | wil 6
USTTR YA FHLEHT AR @ F F9E R HH H % oI SAeA & qerl 1 foewfag e o gree
TEaHTa AeH H $HF HrEes i IR fawgd foman ) 9RY # 39 FrEiwy & siqiiq 18 fafae fmto st
R aa fean wan i sifuss gftrerl o1 savaeRar Bl 81 g o] H 3ad fHaE ufdEsmed, b fawm
Harsit W SR fea

Tree &3 o fasm =1 UL wfafa 3 29 wEEa F fraraam &t avven #i f5ad = g = 5 =g
Hrfd Hrrd: FfY a1 98 ddg el % faw o € difhd ¥ oK yafewi dqem g wm oY 5eE
oy =et feon T | Seen gfg % SR | S % fa dia gt w1 s w F fae e § fmd
qiitfeafaria frefie 8 w81 ofa: gan g9 &9 § defoas TR stat a1 639 1 staeasd ¢
T &5 1 FoET = WA | gEH-TR R gHfed So-GR e Sriwn s i ¥
g Gt &3 o o s wrtfa # 5@, gy, @, aea 9o g SeEen & &9 uifefiss dqerm,
TF:39199 W J&d &9 § &A1 fean i1 =nfeu |
1967 H ArsHT SRR 5 <9 H 67 Tl (qui =1 Aiferen) wg=m g "l fel & &9 H i1 1972 | f5=r
STRIFT A 30 gfavra fEfaa & o1 Auee oieht Ja@n Suret &= 1 afidme foea | e | g dymEt &
T TS, To, UfYeHt Hea Yeu, HERTe & TISarg] 417, 31y Yew & {Herdid SR aE SR,
FATeF SR IR dfFeHTg w3 gfa qen tiafe 9 % ek IR std-yek i H % gu ¥ ders
BRET 3K ST USE & g yuifad 49 f5EE 6 R % R0 9@ 9 99 & ¥

e 8 4 7 @ 9Ra F gEn geanfaa 45 & st T Q2
(1) WBRIE 1 HISATS! &5

(2) STFY YW &1 TS 3R T&THl T8R

(3) W YW H AT &

(4) ufv=rdt gex TEw

Options :

54025057237. 1
54025057238.2
54025057239. 3
54025057240. 4

Physical Education
Group Number : 4
Group Id : 540250266
Group Maximum Duration : 45
Group Minimum Duration : 45
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Physical Education
Section Id : 540250322
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 50 COI Ieged un i a:
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Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 540250891
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 151 Question Id : 54025014311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Gymnastics is the proud legacy of culture.

(1) Indian
(2) European

(3) Chinese
(4) Roman
Options :

54025057241. 1
54025057242. 2
54025057243. 3
54025057244. 4

Question Number : 151 Question Id : 54025014311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

(1) AT
(2) T
(3) =t

(4) Tra

Options :

54025057241. 1
54025057242.2
54025057243. 3
54025057244. 4

Question Number : 152 Question Id : 54025014312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Outdoor sports are a proud legacy of culture.

(1) Roman
(2) Scandanavian
(3) European
(4) China
Options :
54025057245. 1
54025057246. 2

54025057247.3
54025057248. 4

collegedunias
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Question Number : 152 Question Id : 54025014312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

AT FA Fepfa it v At B 21

(1) e

(2) P
(3) Trdr

(4) =

Options :

54025057245. 1
54025057246. 2
54025057247. 3
54025057248. 4

Question Number : 153 Question Id : 54025014313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Who out of the following said, “Man is a Social animal” ?

(1) Connelly
(2) Baron
(3) Aristotle
(4) Richardson
Options :
54025057249. 1
54025057250. 2

54025057251. 3
54025057252. 4

Question Number : 153 Question Id : 54025014313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

e & & Gaa #=1, "waer vs arte aoft 212

(1) =Teeht
(2) T

(3) e
(4) fr=gaw

Options :

54025057249. 1
54025057250. 2
54025057251. 3
54025057252. 4

Question Number : 154 Question Id : 54025014314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

collegedunias
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Floating javelin in air is an example of which of the following type of friction ?
(1)  Fluid Friction
(2) Static Friction
(3) Kinetic Friction
(4) Rolling Friction
Options :
54025057253. 1
54025057254. 2

54025057255. 3
54025057256. 4

Question Number : 154 Question Id : 54025014314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ZaT ® Ay wren Faferfea & F B v & oo w7 v g 82
(1) 7= =T

(2) =ife wfor

(3) Tzt =i

(4) FAFHT oy

Options :

54025057253. 1
54025057254.2
54025057255. 3
54025057256. 4

Question Number : 155 Question Id : 54025014315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Society is a protective shield, a/an media and a psychological sanctuary for human
beings.

(1) Cultural

(2) Social

(3) Educative
(4) Economical

Options :

54025057257. 1
54025057258. 2
54025057259. 3
54025057260. 4

Question Number : 155 Question Id : 54025014315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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HHTS TF qLAT Fa4, TF Hf2am s wet & oo v s s 2
(1) TeFAT
(2) aTHTiE
(3) forerr=
(4) Ty

Options :

54025057257. 1
54025057258.2
54025057259. 3
54025057260. 4

Question Number : 156 Question Id : 54025014316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

activities because of their universal acceptance and acclaim as a cultural extravaganza,
makes them an exhibit of cultures across the world.
(1) Style of music
(2)  Art forms
(3) Sporting
(4) Dancing styles
Options :
54025057261. 1
54025057262. 2

54025057263. 3
54025057264. 4

Question Number : 156 Question Id : 54025014316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Compreenion hico
wfafaferat et arEwitas =hsf s oF arerfas sEar % =9 § e F w1, 55

T v it Fepfaat w1 v=efr 3= aar 2

(1) =g & di=tt

(2) Tt F =T

(3) BT Tl

(4) o7 9kt
Options :

54025057261. 1
54025057262. 2
54025057263. 3
54025057264. 4

Question Number : 157 Question Id : 54025014317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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Identify the correct combination of weight of medicine ball for boys and girls used in Medicine Ball
Put Test ?
(1) Boys - 2kgs and Girls - 1.5kgs
(2) Boys - 3kgs and Girls - 1.5kgs
(3) Boys - 2kgs and Girls - 1kg
(4) Boys - 3kgs and Girls - 1kg
Options :
54025057265. 1
54025057266. 2

54025057267. 3
54025057268. 4

Question Number : 157 Question Id : 54025014317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Ffefam ater = == § sram B s A @t i wefEt F o atfw ot F g F ad @69
it F37?

(1) == - 2 f¥err sfiv sreft - 1.5 e

(2) =% - 3 Frety sirw wrefe - 1.5 By

(3) == - 2 fa ofiw el - 1 ey

(4) 7= - 3 Tt sl wreforat - 1 By

Options :

54025057265. 1
54025057266. 2
54025057267. 3
54025057268. 4

Question Number : 158 Question Id : 54025014318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Isokinetic method was developed by :
(1) HC Buck

(2) Joy Perrny

(3) J.J. Perrine

(4) ].J. Coubertin

Options :

54025057269. 1
54025057270. 2
54025057271. 3
54025057272. 4

Question Number : 158 Question Id : 54025014318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias

India’s largest Student Review Platform



srzaTETEATeF A fErr gre e i o2
(1) m=. 3=

(2) it weAt

(3) A5 afe=

(4) .5, FrafeT

Options :

54025057269. 1
54025057270. 2
54025057271. 3
54025057272. 4

Question Number : 159 Question Id : 54025014319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

exercise result in toned muscles and increased muscle length.

(1) Isotonic

(2) Isometric

(3) Isonomy

(4) Fartlek
Options :

54025057273. 1
54025057274. 2
54025057275. 3
54025057276. 4

Question Number : 159 Question Id : 54025014319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

= F afmmeEE 2e aieaforat o araaforat £ sard § a@ed 2t 2
O EIPIRET
(2) Tufaretr (sreemite)
(3) srEIATHT
(4) HTEAH
Options :

54025057273. 1
54025057274. 2
54025057275. 3
54025057276. 4

Question Number : 160 Question Id : 54025014320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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If Cyclic Fixture Method is used in a league tournament of 6 teams, then in which of the following
round “Team-3” will play a match with “Team-1"?

(1) Round - IV

(2) Round - II

(3) Round -1
(4) Round - V
Options :

54025057277. 1
54025057278.2
54025057279. 3
54025057280. 4

Question Number : 160 Question Id : 54025014320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

6 T F v fr TATHz ¥ 7ft i e R e e s g, T RefRa s a ftm e |
S -3 "Fry 1" F ary f =EE?

(1) TS - IV

(2) TSz - I

(3) TS - |

(4) TTET - V

Options :

54025057277. 1
54025057278. 2
54025057279. 3
54025057280. 4

Question Number : 161 Question Id : 54025014321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

The number of teams participating in different knockout tournaments are given below. Which one
of the following will have maximum number of “byes” ?

(1) 56
2) 33
(3) 40
(4) 38

Options :

54025057281. 1
54025057282. 2
54025057283. 3
54025057284. 4

Question Number : 161 Question Id : 54025014321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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fafers atwaree zatie & wor a9 are fat A d@er = & 0 g Fafetes & F G s § e &
srferFay =T 2RM?
(1)56
(2)33
(3)40
(4)38
Options :
54025057281. 1
54025057282. 2

54025057283. 3
54025057284. 4

Question Number : 162 Question Id : 54025014322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

In a knock-out tournament, a fixture is drawn for 13 teams. Which of the following team will get
3rd pye ?

(1) Team placed at the 2nd position in the fixture.

(2) Team placed at the 8th position in the fixture.

(3) Team placed at the 3rd position in the fixture.

(4) Team placed at the 7th position in the fixture.

Options :

54025057285. 1
54025057286. 2
54025057287. 3
54025057288. 4

Question Number : 162 Question Id : 54025014322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

UF AlF-ar3e ZAtae #, 13 A9t ¥ o uw My daw B s @) fefERe § 8 G S w fme
ars e

(1) Frea ® oy o we vl T A

(2) o= o e v a7 v T S

(3) forreae ® fw T a7 v T T A

(4) Frare=rT o Arae T o7 v= TS A

Options :

54025057285. 1
54025057286. 2
54025057287. 3
54025057288. 4

Question Number : 163 Question Id : 54025014323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

collegedunias
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poses serious threat to human body. We drink water, inhale air, eat
food and above all live in most environment. Choose the correct answer from
below mentioned options, which can fit in all the blanks.
(1) Purification/ purified
(2) Contamination/Contaminated
(3) Pollution/Polluted
(4) Sludge/Sludged
Options :
54025057289. 1
54025057290, 2

54025057291. 3
54025057292. 4

Question Number : 163 Question Id : 54025014323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
AT o T F o sfie meEer fmr wear 21 e ot i F, AT # T AT E,

AT GTT & A7 T3 Fu Afrwier T § w2d g A= fFw v et § & v sfEe
fFeT 74, sit mft i et § Rz grasar 21
(1) raar/eE
(2) FforaeRTon/foe
(3) srgmror/srEfo
(4) Fr==/H=E 7 797

Options :

54025057289. 1
54025057290. 2
54025057291. 3
54025057292. 4

Question Number : 164 Question Id : 54025014324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Name the disease which affect a very small part of the population. A disease which occurs in a
community or a region clearly in access of its normal expectancy.

(1) Infection

(2) Endemic

(3) Epidemic

(4) Pandemic
Options :

54025057293. 1
54025057294. 2
54025057295. 3
54025057296. 4

Question Number : 164 Question Id : 54025014324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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I FATE FT ATH FTATCT ST FTTHEAT F TgT DI 27 F TATET FAT g1 UF Ay 0 Bl agarr
S § TP T T AT TATT I T8 Zrat 2l

(1) wwwT

(2) frarasrfr

(3) weraTdt

(4) &3 T

Options :

54025057293. 1
54025057294. 2
54025057295. 3
54025057296. 4

Question Number : 165 Question Id : 54025014325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

defined Health Education as “Combination of learning experiences designed to help
individuals and communities improve their health, by increasing their knowledge or influencing
their attitudes”.

(1) UNDP
(2) UNICEF
(3) UNESCO
(4) WHO

Options :

54025057297. 1
54025057298. 2
54025057299. 3
54025057300. 4

Question Number : 165 Question Id : 54025014325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

F waree [ Fy "SR ST FHETT A1 3% 9 A GETET AT IAF A A wAET w9,
IR FATEST AT AgAY a9 § 7aE Fa F for Bwrea Fw v fww F oaawat F a9t F v §
(1) Torgrdt
(2) 7w
(3) T
(4) T U=

Options :

54025057297. 1
54025057298. 2
54025057299. 3
54025057300. 4

Question Number : 166 Question Id : 54025014326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

coltegedunias
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WHO stands for

(1) World Healthy Organisation
(2) Worthy Healthy Organisation
(3) Word Healthy Organisation

(4) World Health Organisation

Options :

54025057301. 1
54025057302. 2
54025057303. 3
54025057304. 4

Question Number : 166 Question Id : 54025014326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

=5, T4, (WHO)FT 2T 979 4T 272
(1) P eeer e

(2) I F=TE HST

(3) ors% TaET HIST

(4) fra =TT HHT

Options :

54025057301. 1
54025057302. 2
54025057303. 3
54025057304. 4

Question Number : 167 Question Id : 54025014327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Identify the test being conducted in the picture given below ?

YA D
7/

I ¢
(1) Sit and Reach Test
(2) Chair Sit and Reach Test
(3) Partial Curl up Test
(4) 8 Foot up and go Test

Options :

54025057305. 1
54025057306. 2
54025057307. 3
54025057308. 4

collegedunias
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Question Number : 167 Question Id : 54025014327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

#= faw o B & o st @ oo #r weenfAu?

v

By Ns

(1) #rz i T afemor
(2) =77 Az uoe G afver
(3) =Arfors =t oo T
(4) 8 %= o7 U= T %2
Options :
54025057305. 1
54025057306. 2

54025057307. 3
54025057308. 4

Question Number : 168 Question Id : 54025014328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In method, the speed variation is not planned. The athlete changes the speed on his own
accord.

(1) Repetition
(2) Continuous
(3) Fartlek

(4) Interval

Options :

54025057309. 1
54025057310. 2
54025057311. 3
54025057312. 4

Question Number : 168 Question Id : 54025014328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

collegedunias
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fafer &, afy Frsar £ s 78 5amE 7€ ) vasfiz aoelt 7’ & i F@w@r 2

(1) Treraf
(2)%771'(
(3) wIEAH

(4)81—cr<'.'ﬁ

Options :

54025057309. 1
54025057310. 2
54025057311. 3
54025057312. 4

Question Number : 169 Question Id : 54025014329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

The Harvard Step Test of determining Aerobic Fitness for young men of college age was developed

( R A, ]ones‘ (2002)

(2) Brouha (1943)

(3) Harold M Barrow (1953)
(4) Harvard (1941)

Options :

54025057313. 1
54025057314. 2
54025057315. 3
54025057316. 4

Question Number : 169 Question Id : 54025014329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Ffes £ 37 F gar geat F fro oafas feaw fuifa s@ e 2o 2w FUAREEILCRER I
T 4T,

(1) =% T STT=T (2002)

(2) =TT (1943)

3) 241eT TH 7T (1953)

(4) T4 (1941)

Options :

54025057313. 1
54025057314.2
54025057315. 3
54025057316. 4

Question Number : 170 Question Id : 54025014330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunias
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Which one of the following can be a reason for the range of Co-efficient of friction to be greater
than1 ?

(1) Weaker frictional force
(2) Frictional force in upper direction
(3) Stronger frictional force
(4) Frictional force in lower direction

Options :

54025057317. 1
54025057318. 2
54025057319. 3
54025057320. 4

Question Number : 170 Question Id : 54025014330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Frafrfm & 3w a7 =i F st s Serer) £ @ wT 1 & srftrs 29 v v w2 'war

2?

1) FHST THT o
) T fom # = aer
REEGRERIEE]
(4) FR=reft o # =refor &1

Options :

54025057317. 1
54025057318. 2
54025057319. 3
54025057320. 4

(
(2
(3

Question Number : 171 Question Id : 54025014331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Which one of the following equation is true with respect to force ?

F
e
(2) EFxM=A
(3) FxA=M
4 F+A=M
Options :

54025057321. 1
54025057322. 2
54025057323. 3
54025057324. 4

Question Number : 171 Question Id : 54025014331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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o1 % Tvad ® fferfea & i 3 aeferor 9o 22

F
M <=
(2) ExM=A
(3) FxA=M
4) F+A=M
Options :

54025057321. 1
54025057322.2
54025057323.3
54025057324. 4

Question Number : 172 Question Id : 54025014332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Child’s and socialisation occur only in a society.

(1) Growth
(2) Immunisation
(3) Humanisation
(4) Development
Options :
54025057325. 1
54025057326. 2

54025057327. 3
54025057328. 4

Question Number : 172 Question Id : 54025014332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

g FT ST FHTSITHTOT FaeT U RIS | AT 2l

(1) 3f=

(2) wfazeror
(3) mTetEToT
(4) frrer

Options :

54025057325. 1
54025057326. 2
54025057327.3
54025057328. 4

Question Number : 173 Question Id : 54025014333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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“Sanjay is an athlete and always demonstrates new ideas and skill execution initiatives along with
wide variety in ideas”. Which trait of personality out of the following does Sanjay possess ?
(1) Conscientiousness
(2) Openness to experience
(3) Neuroticism
(4) Agreeableness
Options :
54025057329. 1
54025057330. 2

54025057331. 3
54025057332. 4

Question Number : 173 Question Id : 54025014333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

"oy wE waeftE ¥ s ghem Pt # T F avraary v fEw s wee st w9 #@
s F7a &1 w5 % =t | efafm § F s arr 22

(1) Fa= et

(2) HT=AATHEAT

(3) wAIfaEg=eaT

(4) FeHaaT

Options :

54025057329. 1
54025057330.2
54025057331. 3
54025057332. 4

Question Number : 174 Question Id : 54025014334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Mohit prefers to make decision based primarily on logic and on objective analysis of cause and
effect. Which personality function/preference does Mohit exhibits here ?

(1) Sensing
(2) Intuition

(3) Judging
(4) Thinking
Options :

54025057333. 1
54025057334. 2
54025057335. 3
54025057336. 4

Question Number : 174 Question Id : 54025014334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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AT 7oy = § 7% F 41T I 377 FT07 i wwra F 32ew Frapor & swane av for e 15w Fwar 2
rfze B srtere e/t #1 wafda Fwar 22
(1) sa=z7
(2) stastia
I EEED]
(4) Fr=aT
Options :
54025057333. 1
54025057334. 2

54025057335. 3
54025057336. 4

Question Number : 175 Question Id : 54025014335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Personality is defined as individual’s unique and relatively stable pattern of behaviour, thoughts
and feelings. This definition was given by

(1) Robert A Baron (2008)

(2) Allport (1961)

(3) Cattell (1950)

(4) Eysenck (1953)
Options :
54025057337. 1
54025057338. 2

54025057339. 3
54025057340. 4

Question Number : 175 Question Id : 54025014335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

el =1 & =EgTe, A=t i wraerst F sfadtr 6w atemga fuw e & w7 § afivarfte
TAT F A TETATT FTT 41 T2 oft

(1) T2 ™ 477 (2008)

(2) SterdrE (1961)

(3) ¥27 (1950)

(4) srzaeT (1953)

Options :

54025057337. 1
54025057338.2
54025057339. 3
54025057340. 4

Question Number : 176 Question Id : 54025014336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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Comprehension MCQ
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Arrange the following sub-categories of classification of development of endurances as per duration

in a sequence starting from lesser to most duration :

(A) Short term endurance
(B) Medium type endurance
(C) Speed endurance

(D) Long time endurance

Choose the correct answer from the options given below :

(1 (©), (A), B), (D)

(2) (O, (A), D) (B)
(3) (D) (B) (A) (O
(4)  (A) (©), (B), (D)
Options :

54025057341. 1
54025057342. 2
54025057343. 3
54025057344. 4

Question Number : 176 Question Id : 54025014336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Teaamar & e F Ffteeo i FafefEg -2l # v a3 te F smer 79 F afds @te a5 9% 2

AT ATHA | AT T
(A) =TT TEAeTHaT
(B) HETH THIT TEALTHAT
(C) wfa wrgererqaT

(D) & THT TF TEAeTHAT

= 2w o et ® & At 39 g

(1) (C). (A), (B). (D)
(2) (©), (A), (D), (B)
(3) (D), (B), (A). (C)
(4) (A), (C), (B), (D)

Options :

54025057341. 1
54025057342. 2
54025057343. 3
54025057344. 4

Question Number : 177 Question Id : 54025014337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension
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Arrange the following teams participating in knock-out tournament in a sequence on the basis of

byes given to them starting from greater to lesser number of byes.

(A) 64 teams
(B) 58 teams
(C) 65 teams
(D) 50 teams
(E) 11 teams

Choose the correct answer from the options given below :

(1) (O, (D) (B), (B), (A)

(2) (A (

3) (D), (©), (B), (E),
(4) (O, (D), (B), (E).
Options :

54025057345. 1
54025057346. 2
54025057347.3
54025057348. 4

Question Number : 177 Question Id : 54025014337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Atw-3r32 ZATHz § 91 a4 ardt et St o & s 3wt s F snae o= s #w § safta w1, S

oferF & 7 TedT ® g AR
(A) 64 £

(B) 58 £

(C) 65 &

(D) 50 #r#F

(E) 11 &%

= fam o et # & @@ 29 g
(1) (C). (D), (E), (B), (A)

(2) (A). (B). (E). (D), (C)

(3) (D), (C), (B), (E). (A)

(4) (C), (D), (B), (E), (A)
Options :

54025057345. 1
54025057346. 2
54025057347.3
54025057348. 4

Question Number : 178 Question Id : 54025014338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key
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Comprehension
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Arrange the following postural deformities in a sequential order from head to toe with respect to

different body parts of the human body they are associated with :

(A) Pes planus
(B) Hunch Back
(C) Lordosis

(D) Genu valgum

Choose the correct answer from the options given below :

(1) (B), (O), (D), (A)
(2)  (B), (O, (A), (D)
3) (A) (D) (©), (B)
(4)  (B) (A), (©), (D)
Options :

54025057349. 1

54025057350. 2

54025057351. 3
54025057352. 4

Question Number : 178 Question Id : 54025014338 Question Type :
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Key

Value

Comprehension

MCQ

FRaferfa arfifs qer Bt # v e ofe & s o S sawr |99y € F |99y § 92 9 9 75

ATHTHE FH | Aaferg Ffor:

(A) F7=T &7 (T )
(B) Fa= (£ )

(C) srrgpasraT (ATSTae)
(D) A& ST, (S F<TH)

T fam 7o freedt # 7 98t 397 A

(1) (B). (C). (D), (A)
(2) (B). (C), (A), (D)
(3) (A), (D), (C), (B)
(4) (B). (A), (C), (D)
Options :

54025057349. 1
54025057350. 2

54025057351. 3
54025057352. 4

Question Number : 179 Question Id : 54025014339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key
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Comprehension

MCQ
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Arrange the following equipments used in different test items according to their weight in a
sequential order starting from lightest to the heaviest weight:

(A) Medicine ball for Boys in Medicine ball throw test of Barrow Motor Ability test

(B) Medicine ball for Girls in Medicine ball throw test of Barrow Motor Ability test

(C) Dumbbell for Men for Arm Curl test of Rikli and Jones Senior Citizen Fitness test
(D) Dumbbell for Women for Arm Curl test of Rikli and Jones Senior Citizen Fitness test
Choose the correct answer from the options given below :

(1) (B), (D) (O), (A)

(2) )
3) (O, (A), D), (B)
4) )
Options :

54025057353. 1

54025057354. 2

54025057355. 3
54025057356. 4

Question Number : 179 Question Id : 54025014339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

At wferor aegalt & s B s arer et sowe # 59F a9 F daE aaEteE w7 F 59
T arferer & srafeora w3
(A) 337 Jr=T erar afveor 3 afRfEm ai= oy e & @zt F fro afkfEa atw
(B) 7Y drz7 erear afveror AR ater o wheror & =i & o afRfRe atw
(C) fraeft sitv e dfifie e AvaaT T 3 o &t 2 & oo gt & o <o
(D) Frareft sfre st #fifRere Rrfemr Aerar wfteror & omd &t 2oz & oo afgersit & oo <9
= 2w o et ® & At 397 g
(1) (B), (D), (C), (A)
(2) (B). (D), (A), (C)
(3) (C), (A). (D), (B)
(4) (B), (A), (D), (C)
Options :
54025057353 1
54025057354. 2

54025057355. 3
54025057356. 4

Question Number : 180 Question Id : 54025014340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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Arrange the following examples of different types of friction in a sequential order starting from

Rolling friction — Fluid friction — Kinetic friction — Static friction.

(A) Javelin floating in air

(B) When you hit a tennis ball with a racket

(C) Any ball rolling on the ground

(D) Friction produced while rubbing hands
Choose the correct answer from the options given below :

(1) (A) (©), (B), (D)
(2) (©), (A) D), (B)
(3) (B), (©), (A), (D)
(4) (D) (B), (A) (O
Options :

54025057357. 1

54025057358.2

54025057359. 3
54025057360. 4

Question Number : 180 Question Id : 54025014340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

fafrer ware & =ior & Referfera seevo #r R o spnfaes s & srafRuaa #53  AfeRr s o

—FTZAfeF T R e
(A) ZaT § §73 g qrer

(B) 5T 3T U Ve T 2w At F1 A 2

(C) sr#fie 9 e arelt e ot =
(D) BT ¥ TET THT I =0T

= 2w o et ® & At 39 g

(1) (A), (C), (B). (D)
(2) (©), (A), (D), (B)
(3) (B), (C). (A), (D)
(4) (D), (B), (A), (C)

Options :

54025057357. 1
54025057358. 2
54025057359. 3
54025057360. 4

Question Number : 181 Question Id : 54025014341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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Which one of the following statements are true about LNIPE ?
(A) LNIPE was established in 1957
(B) LNIPE falls under the jurisdiction of the Ministry of Youth Affairs and Sports, Govt. of India

(C) LNIPE offered a 3 - year degree and 2 year Post graduate courses of Physical Education for
the first time in the Country

(D) LNIPE is situated in Thiruvananthapuram, Kerala
Choose the correct answer from the options given below :
(1) (A) and (B) only

(2)  (A) (B) and (D) only

(3) (A), (B) and (C) only

(4) (B)and (C) only

Options :

54025057361. 1

54025057362 2

54025057363. 3
54025057364. 4

Question Number : 181 Question Id : 54025014341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

TermAarEdtE (LNIPE) % amv # fReferfers & & & a7 e #er 22

(A) LNIPE 7 #ormae 1957 & g% oft

(B) LNIPE 7=t &1 3T &1 HaTeray, AT HYHTY 3 ST 3 At ofmar 8

(C) LNIPE 7 o1 & wgeft a1z ot forear % 3- afior R=Raft ofiw 2 ol =raspae arsersat i Sorswer #
(D) LNIPE fawadaqew, Fver & fora 2

= B faedt 7 7 @ 3= g

(1) %3 (A) 4T (B)

(2) (A), (B) ¥t (D) =t

(3) (A), (B) % (C) et

(4) %= (B) 4% (C)

Options :

54025057361. 1
54025057362. 2
54025057363. 3
54025057364. 4

Question Number : 182 Question Id : 54025014342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
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Which of the following career options fall under the umbrella of sports officials during a match ?

(A) Referee
(B) Pathologist
(C) Umpire
(D) Line judge

Choose the correct answer from the options given below :

1) (B (C) and (D) only

(2) (A), (C) and (D) only
(3) (A) ( ) and (C) only
(4) (A) and (C) only

Options :

54025057365. 1
54025057366. 2
54025057367. 3
54025057368. 4

Question Number : 182 Question Id : 54025014342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

e & & #t= |7 Yo v &5 % v Ger ettt £ gEera § aEr 22

(A) THY

(B) Forgfa farsrret
(C) surIe

(D) ®TET ST

#r= f3w o et ® & @ g9 g

(1) (B), (C) ¥ (D) Fa=
(2) (A), (C) 37 (D) Fa=
(3) (A), (B) 3% (C) Fa=
(4) F (A) 7 (C)

Options :

54025057365. 1
54025057366.2
54025057367. 3
54025057368. 4

Question Number : 183 Question Id : 54025014343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following are the effects of the Alcohol ?

(A) It leads to gradual physical and psychic dependence on others

(B) It excites cardiovascular system beyond limits creating cardiac disorder

(C) It improves memory

(D) It markedly affects the nervous system, retards memory and gradually cripples sense of reason

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2)  (B), (C) and (D) only
(3) (A), (C) and (D) only
(4) (A) (B) and (D) only
Options :

54025057369. 1
54025057370. 2
54025057371. 3
54025057372. 4

Question Number : 183 Question Id : 54025014343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Aafefm & F :19 7 a9 (sreg) F Tq= E ?

(A) 72 90 T FA: o s wrafEe i £ @ smar

(B) =g 7== e far #v avett #mr § W AR Ay Been iy s wwar g
(C) 7 =qfa & qare FTaT &

(D) 72 T7% =Y & FFT 75 v wATET FEar g, Ty otk #r "y Fvar g o7 fiv-efiv sy #ir e
FATE

F= o et & & ot e g

(1) (A), (B) 9T (C) ¥t

(2) (B), (C) 9T (D) Fa=

(3) (A), (C) 9 (D) Fa=

(4) (A), (B) 3% (D) ¥t

Options :

54025057369. 1
54025057370. 2
54025057371. 3
54025057372. 4

Question Number : 184 Question Id : 54025014344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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Comprehension MCQ
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First Aid for soft tissue injuries includes which of the following options ?

(A) Apply an ice pack wrapped in a cloth to the injury for 15 - 20 minutes

(B) Apply an ice pack regularly for a period of 2 - 3 days until the pain and swelling vanishes
(C) The injured area can be lightly massaged

(D) Warm water can be applied to the injured area

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (A) and (B) only

(4) (B), (C) and (D) only
Options :

54025057373. 1
54025057374. 2
54025057375.3
54025057376. 4

Question Number : 184 Question Id : 54025014344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T (Soft) Fas #i =2t & fory srrfaes Frften & fufefem § & 5 & fwer e 22

(A) 15 - 20 fo== ¥ foro =iz 72 F92 § 92T g3 UF 7 ¥ St &7 7909 74

(B) 2 - 3 a1 it sl & v Faffm s a af fir St v i 73 919 7% % 22 s gea e 7 2r =i
(C) == FTt FATH it goeht ATforer ¥ ST At ¢

(D) T Tt T AT S TT AT AT TFAT 2

#= B o et ® & gt 3= g

(1) (A), (B) 4% (C) F=ret

(2) (A), (B) &= (D) ==t

(3) F= (A) 4T (B)

(4) (B), (C) #irT (D) Fa=

Options :

54025057373. 1
54025057374. 2
54025057375. 3
54025057376. 4

Question Number : 185 Question Id : 54025014345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Choose the bodily structural description of Endomorph from the following :

(A) Flat chest
(B) Round body

(C) Clearly defined cheek bones

(D) Small hands and arms

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (A) and (C)

(3) (B) and ©)

(4) (B) and (D)
Options :

54025057377. 1
54025057378. 2
54025057379. 3
54025057380. 4

Question Number : 185 Question Id : 54025014345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension
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fPrefefEm & & 02w ¥ orfiv de=er fao #1 =79 #2795

(A) TaTE ZTeft

(B) et 91T

(C) Fre = | wirwrioa e #t gfZar
(D) =iz BT 9T ST

#r= f3w o et ® & @ g9 g

(1) (A) 3 (

(2) (A) 37 (C)
(3) (B) 3 (C)
(4) (B) i< (D)

Options :

54025057377 1
54025057378. 2
54025057379. 3
54025057380. 4

B)
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Match the different types of speed listed in List - I with their description listed in List - II.

List - I List - II
(Types of speed) (Description)

(A) Acceleration Ability (I)  Ability to move at a high speed for longer duration of time

(B) Locomotor Ability (II)  Ability to perform a single movement in minimum possible time

(C) Speed Endurance (Il1) To maintain maximum speed when in motion for maximum
possible distance

(D) Movement speed (IV) Ability to achieve high speed of locomotion from a stationary
position

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(I1D), (O)-(1), (D)-(II)

(2)  (A)-IV), (B)-(D), (O)-(II), (D)-(I)

(3)  (A)-D), (B)-(I), (O-(IV), (D)-(II)

(4)  (A)-D), (B)-@), (O-1V), (D)-(II)
Options :

54025057381. 1
54025057382. 2
54025057383. 3
54025057384. 4
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Match the terms listed in List I with their description listed in List IL

List - I List - II
(Terms) (Description)
(A) Seeding (I)  Conducted outside or beyond the walls of the organising unit
(B) Intramural (I) A team does not participate in primary round due to allotment
of draws
(C) Extramural (Il) Conducted within the players of an institution
(D) Bye (IV) A team does not participate in primary round/rounds due to

previous year’s performance

Choose the correct answer from the options given below :
(1) (A1), B)-I), ©)-AV), (D)-{1)

(2)  (A)-D), (B)-1), (O-(11), (D)-(IV)
(3)  (A)-(D), (B)-(IV), (O)-(T0), (D)-(II)
(4)  (A)-IV), (B)-(I1D), (©O)-(0), (D)-(I)
Options :

54025057385. 1
54025057386. 2
54025057387. 3
54025057388. 4
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(1) (A)-(111), (B)-(l), (C)-(IV), (D)-(1)
(2) (A)-(11), (B)-(1), (C)-(IN), (D)-(1V)
(3) (A)-(1). (B)-(IV), (C)-(I1), (D)-(1)
(4) (A)-(IV), (B)-(ll1), (C)-(, (D)-(IT)
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Match the figures listed in List I with the test items listed in List IL

List - I List - II
(Figures) (Test Items)
*Fg" i
(A) a'sg; () Shuttle Run
(B) = & & (I) Sit and Reach
O E () Partial curl up
5‘ &- (IV) Standing Broad Jump

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(IV), (O)-(I), (D)-(I)

(2)  (A)-IV), (B)-(1D), (O)-(), (D)-(I)
(3) (A)-(D), (B )(), (O)-(1V), (D)~(I)
(4) (A1), (B)-(II), (O, (D)-(IV)
Options :

54025057389. 1
54025057390. 2
54025057391. 3
54025057392. 4

Question Number : 188 Question Id : 54025014348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

.
@collegedunlag
India’s largest Student Review Platform



A | 7 Fefrag Bt o fem g ft 1| § oferor 721 & a7 w3
A - |

(A)
(B) :
(C)
(D)
st ing. je— : :
= faw o et § & @t g9 gA:

(1) (A)-(111), (B)-(1V), (C)-(IN), (D)-(1)
(2) (A)-(IV), (B)-(11T), (C)-(1), (D)-(IT)
(3) (A)-(IN), (B)-(1), (C)-(IV), (D)-(lIT)
(4) (A)-(1), (B)-(11), (C)-(1lN), (D)-(1V)

Options :

54025057389. 1
54025057390. 2
54025057391. 3
54025057392. 4
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Match the benefits of Exercise as given in List I with their description as given in List II.

List - I List - II
(Benefits of Exercise) (Description)
(A) Psychological well being  (I) Balance between caloric intake and energy consumption
(B) Weight management (I) To learn from adverse conditions
(C) Socialization (IlI) Brings positive changes in the mental and physical well
being
(D) Leadership qualities (IV) To overcome social isolation and tackle loneliness

Choose the correct answer from the options given below :
(1) (A, (B)-IV), (O)-), (D)-{I)

(2)  (A)-(ID), (B) (1), (©)- ( ) ( )-(1V)

(3)  (A)-(11), (B)-D), (C )( ) (D)-(1I)

(4)  (A)-IV), (B)-(1D), (C)-(D), (D)-(II)

Options :

54025057393. 1

54025057394, 2

54025057395. 3
54025057396. 4
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(1) (A)-(II), (B)-(1V), (C)-(1), (D)-(1)
(2) (A)-(II), (B)-(I1), (C)-(1), (D)-(1V)
(3) (A)-(1D), (B)-(1), (C)-(IV), (D)-(1)
(4) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I1T)

Options :

54025057393. 1

54025057394.2

54025057395. 3
54025057396. 4
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Match the types and Technique of motivation listed in List I with their description listed in List II.

List - 1 List - II
(Types and Techniques (Description)
of Motivation)
(A) Extrinsic Motivation (I)  Natural instincts, urges and impulses of the
individual
(B) Social Support Strategy (II)  Creating drive among people to maintain
Sporting Environment
(C) Intrinsic Motivation (IIT)  Expectancy and Goal Setting Theory
(D) Cognitive approach for Motivation (IV) Rewards, incentives and appreciations

Choose the correct answer from the options given below :
(1) (A)-(1), (B)-(IV), (O-1), (D)-[0)

(2)  (A)-1), (B)-(ID), (O)-1V), (D)-()
(3)  (A)-1D), B)-0), (O, (D)-(IV)
(4)  (A)-IV), (B)-(1D), (C)-(D), (D)-(II)
Options :

54025057397. 1

54025057398. 2

54025057399. 3
54025057400. 4
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(4) (A)-(IV), (B)-(11), (C)-(1), (D)(1IT)
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54025057397. 1
54025057398.2
54025057399. 3
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

During which of the following games, physical education was given a new shape ?
(1) 1900 Modern Olympic Games
(2) 1896 Modern Olympic Games
(3) 1904 Modern Olympic Games
(4) 1908 Modern Olympic Games

Options :

54025057401. 1
54025057402. 2
54025057403. 3
54025057404. 4
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

During which of the following periods there were no physical education teacher ?
(1) 1910 to 1920 AD
(2) 1920 to 1940 AD
(3) 1859 to 1900 AD
(4) 1912 to 1920 AD

Options :

54025057405. 1
54025057406. 2
54025057407. 3
54025057408. 4
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(1) 1910 & 1920 %.
(2) 1920 & 1940 %.
(3) 1859 & 1900 %.
(4) 1912 & 1920 %.
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54025057405. 1
54025057406. 2
54025057407. 3
54025057408. 4
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

Why Physical Education is treated as a profession ?

(1) Itis liked by all sports men/women

(2) Itis an easy subject

(3) It has passed all the test required for being a professional subject
(4) Itis an interesting subject

Options :

54025057409. 1
54025057410. 2
54025057411. 3
54025057412. 4
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

Which of the following started from the year 1940 AD?
(1) Display trick-art period
(2) Olympic games were given a new shape
(3) The profession of games coaching started
(4) Scientific games training period
Options :
54025057413. 1
54025057414. 2
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54025057416. 4
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. [t was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

During, 1920 what was used to be the main guiding line ?
(1)  Principles of physical education

(2)  Self experience of the players and coaches

(3) Modern Olympic Games

(4) Display trick-art

Options :

54025057417. 1
54025057418.2
54025057419. 3
54025057420. 4

Question Number : 195 Question Id : 54025014355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension Compl

.
Qcollegedunlas
India’s largest Student Review Platform



# f g rerter A eargEE a¢ o s Y arRit  srETe wTey F e d

1896 F sefa st &= F 2, oriifee forar v v qar s Bar v 2m 2o wftver w7
" 1850 AT F STEITH o[F g 1859 & 1900 £ % F "A9H Fr REe few-ae wrer F T F ST SAreqv
ofT, T T Aty & v Frg o fore forerss o7 &= & g 721 )

T FITHT T ToT 7 1920 F AT F oM, T G937 F:7 07 o= foem F frsmi ¥ 2w %
&= # werer i) T ety & e, RrenfEay sie aforemnt / #r F =R s #1 37 e antestE
T % w7 AT T am

FTAT T "@fea a= afdverr safy 7 1940 & & oF g2, i ad 1960 = 9%, @ w9
sforeror fafera, wite fifaat sihe wonferat # sroeger afiads v v gaml 78 39 aater & 2w o %
orrifeer forear 1 v 997 F = & revfoa A v o s SefRe ot 7, agrmar fef s ot forer
¥ forgra eefie o o)

arer, o forer v mwaTRE B s T 2, A T aweaTEs F weft ofteror o G of
Aoy g1 W9 Ao F = & Arerar wrw A ¥ O 2 araems e =it 4 €

1920 ¥ F7T qET ATtaelF YT F = H F7 w0 B o on?
(1) et fovem % frgia

(2) Faertfzt i Fr= 1 sAfReTT srwa

(3) syt Aretfos aw

(4) T2 FTAI-FAT

Options :

54025057417. 1
54025057418. 2
54025057419. 3
54025057420. 4

Sub-Section Number : 3
Sub-Section Id : 540250893
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 196 Question Id : 54025014356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2

@collegeduniag



Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Who amongst the following Authors/Researchers opined that the approximate age range of femoral
epiphysis in boys is 13 to 16 years ?

(1) Krestmer and Associates

(2) Dr. Surgeon and his team

(3) Dr. Sheldon and Associates

(4) Loder et al.
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Which of the following medical condition arise due to weak epiphyseal plate ?
(1) Dislocation of shoulder joint
(2) Slipped capital humural epiphysis
(3) Slipped capital femoral epiphysis
(4) Slipped disc of lumber region
Options :
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Why are water exercises used in a condition where patients after surgery can partially bear their
weight ?

(1) To reduce pain

(2) Toimprove gait

(3) To achieve range of motion and strength gains

(4) To enhance antalgic gait
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

A few of the causes leading to slipped capital femoral epiphysis in youth are :

(1) Recent growth spurt, imbalance of growth harmones, over weight or lanky build

(2) Inability of the body to produce insulin, malfunctioning of harmones and ectomorphic build
(3) Sudden growth spurt, limited strength and passive life style

(4) Hormonal imbalance, hereditary traits and malfunctioning of nervous system

Options :
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Symptoms of Slipped Capital Femoral Epiphysis are :
(1) Insidious and gradual onset of pain in the groin
(2) Pain while moving arms and difficulty in walking
(3) Pain in the lower abdomen and antalgic gait
(4) Sudden on set of pain with swollen feet
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